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23 ,y; mb 2 ck; Rl;b 3 ck; MFk;.

   Rl;b

  mb

tY

23 I thrpf;Fk; Kiw ,uz;bd; %d;whk; tY MFk;.

23 I ngUf;fkhf tphpj;J vOJk; NghJ 2 X 2 X 2 vd vOjg;gLk;

c + k; :-

5a2b3 = 5 X a X a X b X b
 2 x 2 x 3 x 3 x  a x  a x a x b x b I Rl;b tbtpy; vOJk; NghJ 23 32 a3 y2  MFk;.

8  vd;w vz;iz 2I mbahff; nfhz;l Rl;b tbtpy; vOJjy;

2 8

2 4

2 2

  1

  vd;w vz;iz Kjd;ik vz;iz mbahff; nfhz;l tYthf; vOJjy;

2 72

2 36

2 18

2  9

3  3

   1

 ngUf;fj;jpd; tY

x   vd;gJ 3 ,dJk; 4 ,dJk; ngUf;fkhFk;;. x 2 vd;gJ (3 x 4) ,dJ

  ngUf;fj;jpd; tYthFk;.

x 2 ,d; ngWkhdk; fhz;gjw;F ,U topfs; cs;sd.

( 3 x 4 )2 =  (3 x 4) (3 x 4)

  =  3 x 4 x 3 x 4
   =  3 x 3 x 4 x 4

  =  32 x 42

,jw;Nfw;g

(a x b )3 = (a b ) 3

  = ab x ab x ab
  = a x a x a x b x b x b
  = a3 b3

xU ngUf;fj;jpd; tYit ngUf;fj;jpd; fhuzpfspd; tYf;fspd; ngUf;fkhf

vOjyhk;

8 = 2 x 2 x 2
   = 23

72 = 2 x 2 x 2 x 3 x 3
   = 23  32



2 juk; 8

c + k; :-
  1). 25a2 ,id ngUf;fk; xd;wpd;

    tYthf jUf?

25a2  = 52 x a2

            = (5 x a )2

            = (5 a )2

gapw;rp
1. jug;gl;l Nfhitfis ngUf;fkhf tphpj;J vOJf?

1) 7a2 2) 3x2y2 3) 53p2q3

2.  jug;gl;l vz;fis Kjd;ik vz;fis mbahf nfhz;l tYf;fis ngUf;fkhf

  vOJf?

1) 28 2) 180 3) 1050

3. 81 I mb 3 ,Yk; mb 9 ,Yk; mikAkhW Rl;b Fwpg;gPl;by; jUf?

4. gpd;tUk; ngUf;fq;fspd; tYit ngUf;fj;jpd; fhuzpfspd; tYf;fspd; ngUf;fkhf

  fhl;Lf?

1) (5 x 7)3 2) (a x b x c )4 3) (2pq)3 4) (3x)2 5) (10ab)3

5. gpd;tUk; xt;nthU tYf;fspd; ngUf;fj;ijAk; ngUf;fj;jpd; tYthfj; jUf?

1) 23 X 53 2) 34 X b4 3)  81a2b2 4) 27p3

5) (2n)3 x m3 6) (4g)4 x (3h)3

kiw epiwvz; xd;wpd; tY

kiw epiwvz;fs; -1> -2> -3>... MFk;

21 = 2 (-2)1 = (-2)

22 = 2 x 2 = 4 (-2)2 = (-2) x(-2) = 4

23 = 2 x 2 x 2 = 8 (-2)3 = (-2) x(-2) x(-2)  = (-8)

24 = 2 x 2 x 2 x 2  = 16 (-2)4 = (-2) x(-2) x(-2) x(-2) = 16

 xU Neh;epiw vz;zpy; ve;jnthU tYtpdJk; ngWkhdk; Neh; ngWkhdkhFk;.

 xU kiw epiw vz;zpy; xw;iw tYtpd; ngWkhdk; kiw ngWkhdkhFk;.

 xU kiw epiw vz;zpy; ,ul;il tYtpd; ngWkhdk; Neh; ngWkhdkhFk;.

c + k; :-

1) (-3)
4
 ,d; ngWkhdk; ahJ? 2) (-4)3 ,d; ngWkhdk; ahJ?

(-3) x (-3) x (-3) x (-3) = 81 (-4) x (-4) x (-4) = ( -64)

gapw;rp
1.ngWkhdk; fhz;f

i) (-1)2 ii) (-1)5 iii) (-1)1001 iv) (-1)2020

v) (-4)2 vi) (-5)3 vii) (-10)4 viii) (-6)1

ix) (-2)7 x) (-3)5

 2). 8 x p3 x q3 tYf;fspd; ngUf;fj;jpid

    ngUf;fj;jpd; tYthf jUf?

8 x p3 x q3 = 23 x p3 x q3

  = (2 x p x q)3

    = (2 p q)3


